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1. Find the nth term of the sequence 6, 13, 29, Z7; s
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2. The nth term of a sequence is 2n + 1
The nth term of a different sequence is 3n - 1
Work out the three numbers that are
in both sequences
and Z% / 2O,l 55
between 20 and 40
2o - 2,@D,25,23,@3) 3),3339,3F,29
Pa-) - 20,03, 26,@) 223,37
[3]
3. Which sequence is a geometric progression?
Circle your answer.
1 2 3 4 1 F 4 7
1 2 4 8] 1 2 3 5
[1]

4. Here are the first four terms of an arithmetic sequence.
6 10 14 18

(a) Write an expression, in terms of n, for the nth term of this sequence.
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The nth term of a different arithmetic sequence is 3n + 5

(b) Is 108 a term of this sequence? 2nr+S =\0B

Show how you get your answer. (—5) 2 = 103
(+3) N = 3%')s
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5. Here are the first six terms of a Fibonacci sequence.
1 1 2 3 5 8 12 2)

The rule to continue a Fibonacci sequence is,
the next term in the sequence is the sum of the two previous terms.
(a) Find the 9th term of this sequence.

Yo 22%

The first three terms of a different Fibonacci sequence are

a b a+b ax2n 2a 3y3bp
(b) Show that the 6th term of this sequence is 3a + 5b

o+ 2b + 200 43b = 2o+ Db

(2]
Given that the 3rd term is 7 and the 6th term is 29,
(c) find the value of a and the value of b.
arb=3 0O
20 +5b =29 @
Ox>» Zar3b=2)
2p = E a= 5 .........................................

b=y ... S R

Ax 4 =F
6. Work out the next term of this quadratic sequence.

4 12 24 40 éDQ
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